

Week 15 - NFL Week 15		
Beer Money	2.00	
Student Body Left	2.00	
Dale Hollow Hotel Fund	2.00	
Disney Doesn't Do Dallas	2.00	
DNAO	1.00	-1.00
Kenny Rogers Roasters	1.00	-1.00
DaCards	1.00	-1.00
Glazin Sigmas	1.00	-1.00
5'3' With An Attitude	0.00	-2.00
DWI	0.00	-2.00
Derby City Football	0.00	-2.00
If You Ain't First You're Last!	0.00	-2.00
Week 14 - NFL Week 14		
Beer Money	4.00	
Student Body Left	4.00	
Disney Doesn't Do Dallas	4.00	
Dale Hollow Hotel Fund	3.00	-1.00
DNAO	3.00	-1.00
	2.00	-2.00
Glazin Sigmas	2.00	-2.00
Derby City Football	1.00	-3.00
Kenny Rogers Roasters	1.00	-3.00
DWI	0.00	-4.00
DaCards	0.00	-4.00
5'3' With An Attitude	0.00	-4.00 -4.00
If You Ain't First You're Last!	0.00	-4.00
Week 13 - NFL Week 13		
Week 13 - NFL Week 13 Beer Money	4.00	
	4.00 4.00	
Beer Money		
Beer Money Disney Doesn't Do Dallas	4.00	
Beer Money Disney Doesn't Do Dallas DNAO	4.00 4.00	-1.00
Beer Money Disney Doesn't Do Dallas DNAO 5'3' With An Attitude	4.00 4.00 4.00	-1.00 -1.00
Beer Money Disney Doesn't Do Dallas DNAO 5'3' With An Attitude Kenny Rogers Roasters	4.00 4.00 4.00 3.00	
Beer Money Disney Doesn't Do Dallas DNAO 5'3' With An Attitude Kenny Rogers Roasters DaCards	4.00 4.00 4.00 3.00 3.00	-1.00
Beer Money Disney Doesn't Do Dallas DNAO 5'3' With An Attitude Kenny Rogers Roasters DaCards Dale Hollow Hotel Fund	4.00 4.00 4.00 3.00 3.00 1.00	-1.00 -3.00
Beer Money Disney Doesn't Do Dallas DNAO 5'3' With An Attitude Kenny Rogers Roasters DaCards Dale Hollow Hotel Fund If You Ain't First You're Last!	4.00 4.00 4.00 3.00 3.00 1.00	-1.00 -3.00 -3.00
Beer Money Disney Doesn't Do Dallas DNAO 5'3' With An Attitude Kenny Rogers Roasters DaCards Dale Hollow Hotel Fund If You Ain't First You're Last! Student Body Left	4.00 4.00 4.00 3.00 3.00 1.00 1.00 0.00	-1.00 -3.00 -3.00 -4.00
Beer Money Disney Doesn't Do Dallas DNAO 5'3' With An Attitude Kenny Rogers Roasters DaCards Dale Hollow Hotel Fund If You Ain't First You're Last! Student Body Left Glazin Sigmas	4.00 4.00 4.00 3.00 3.00 1.00 1.00 0.00	-1.00 -3.00 -3.00 -4.00 -4.00
Beer Money Disney Doesn't Do Dallas DNAO 5'3' With An Attitude Kenny Rogers Roasters DaCards Dale Hollow Hotel Fund If You Ain't First You're Last! Student Body Left Glazin Sigmas Derby City Football DWI	4.00 4.00 4.00 3.00 3.00 1.00 1.00 0.00 0.00	-1.00 -3.00 -3.00 -4.00 -4.00
Beer Money Disney Doesn't Do Dallas DNAO 5'3' With An Attitude Kenny Rogers Roasters DaCards Dale Hollow Hotel Fund If You Ain't First You're Last! Student Body Left Glazin Sigmas Derby City Football DWI  Week 12 - NFL Week 12	4.00 4.00 4.00 3.00 3.00 1.00 1.00 0.00 0.00	-1.00 -3.00 -3.00 -4.00 -4.00
Beer Money Disney Doesn't Do Dallas DNAO 5'3' With An Attitude Kenny Rogers Roasters DaCards Dale Hollow Hotel Fund If You Ain't First You're Last! Student Body Left Glazin Sigmas Derby City Football DWI  Week 12 - NFL Week 12 DNAO	4.00 4.00 4.00 3.00 3.00 1.00 1.00 0.00 0.00 0.00	-1.00 -3.00 -3.00 -4.00 -4.00
Beer Money Disney Doesn't Do Dallas DNAO 5'3' With An Attitude Kenny Rogers Roasters DaCards Dale Hollow Hotel Fund If You Ain't First You're Last! Student Body Left Glazin Sigmas Derby City Football DWI  Week 12 - NFL Week 12 DNAO 5'3' With An Attitude	4.00 4.00 4.00 3.00 3.00 1.00 1.00 0.00 0.00 0.00 0	-1.00 -3.00 -3.00 -4.00 -4.00
Beer Money Disney Doesn't Do Dallas DNAO 5'3' With An Attitude Kenny Rogers Roasters DaCards Dale Hollow Hotel Fund If You Ain't First You're Last! Student Body Left Glazin Sigmas Derby City Football DWI  Week 12 - NFL Week 12 DNAO 5'3' With An Attitude If You Ain't First You're Last!	4.00 4.00 4.00 3.00 3.00 1.00 1.00 0.00 0.00 0.00 0	-1.00 -3.00 -3.00 -4.00 -4.00
Beer Money Disney Doesn't Do Dallas DNAO 5'3' With An Attitude Kenny Rogers Roasters DaCards Dale Hollow Hotel Fund If You Ain't First You're Last! Student Body Left Glazin Sigmas Derby City Football DWI  Week 12 - NFL Week 12 DNAO 5'3' With An Attitude If You Ain't First You're Last! Glazin Sigmas	4.00 4.00 3.00 3.00 1.00 1.00 0.00 0.00 0.00 4.00 4.00	-1.00 -3.00 -3.00 -4.00 -4.00
Beer Money Disney Doesn't Do Dallas DNAO 5'3' With An Attitude Kenny Rogers Roasters DaCards Dale Hollow Hotel Fund If You Ain't First You're Last! Student Body Left Glazin Sigmas Derby City Football DWI  Week 12 - NFL Week 12 DNAO 5'3' With An Attitude If You Ain't First You're Last! Glazin Sigmas Student Body Left	4.00 4.00 3.00 3.00 1.00 1.00 0.00 0.00 0.00 0	-1.00 -3.00 -3.00 -4.00 -4.00 -4.00 -1.00
Beer Money Disney Doesn't Do Dallas DNAO 5'3' With An Attitude Kenny Rogers Roasters DaCards Dale Hollow Hotel Fund If You Ain't First You're Last! Student Body Left Glazin Sigmas Derby City Football DWI  Week 12 - NFL Week 12 DNAO 5'3' With An Attitude If You Ain't First You're Last! Glazin Sigmas Student Body Left DWI	4.00 4.00 4.00 3.00 3.00 1.00 1.00 0.00 0.00 0.00 0	-1.00 -3.00 -3.00 -4.00 -4.00 -4.00
Beer Money Disney Doesn't Do Dallas DNAO 5'3' With An Attitude Kenny Rogers Roasters DaCards Dale Hollow Hotel Fund If You Ain't First You're Last! Student Body Left Glazin Sigmas Derby City Football DWI  Week 12 - NFL Week 12 DNAO 5'3' With An Attitude If You Ain't First You're Last! Glazin Sigmas Student Body Left DWI  Kenny Rogers Roasters	4.00 4.00 4.00 3.00 3.00 1.00 0.00 0.00 0.00 0.00 4.00 4.00 4	-1.00 -3.00 -4.00 -4.00 -4.00 -4.00 -1.00 -2.00
Beer Money Disney Doesn't Do Dallas DNAO 5'3' With An Attitude Kenny Rogers Roasters DaCards Dale Hollow Hotel Fund If You Ain't First You're Last! Student Body Left Glazin Sigmas Derby City Football DWI  Week 12 - NFL Week 12 DNAO 5'3' With An Attitude If You Ain't First You're Last! Glazin Sigmas Student Body Left DWI  Kenny Rogers Roasters DaCards	4.00 4.00 3.00 3.00 1.00 0.00 0.00 0.00 0.00 4.00 4.00 4	-1.00 -3.00 -4.00 -4.00 -4.00 -4.00 -1.00 -2.00 -3.00 -3.00
Beer Money Disney Doesn't Do Dallas DNAO 5'3' With An Attitude Kenny Rogers Roasters DaCards Dale Hollow Hotel Fund If You Ain't First You're Last! Student Body Left Glazin Sigmas Derby City Football DWI  Week 12 - NFL Week 12 DNAO 5'3' With An Attitude If You Ain't First You're Last! Glazin Sigmas Student Body Left DWI Kenny Rogers Roasters DaCards Dale Hollow Hotel Fund	4.00 4.00 3.00 3.00 1.00 1.00 0.00 0.00 0.00 4.00 4.00 4	-1.00 -3.00 -4.00 -4.00 -4.00 -4.00 -1.00 -2.00 -3.00
Beer Money Disney Doesn't Do Dallas DNAO 5'3' With An Attitude Kenny Rogers Roasters DaCards Dale Hollow Hotel Fund If You Ain't First You're Last! Student Body Left Glazin Sigmas Derby City Football DWI  Week 12 - NFL Week 12 DNAO 5'3' With An Attitude If You Ain't First You're Last! Glazin Sigmas Student Body Left DWI Kenny Rogers Roasters DaCards Dale Hollow Hotel Fund Beer Money	4.00 4.00 3.00 3.00 1.00 0.00 0.00 0.00 0.00 4.00 4.00 4	-1.00 -3.00 -4.00 -4.00 -4.00 -4.00 -1.00 -2.00 -3.00 -3.00 -4.00
Beer Money Disney Doesn't Do Dallas DNAO 5'3' With An Attitude Kenny Rogers Roasters DaCards Dale Hollow Hotel Fund If You Ain't First You're Last! Student Body Left Glazin Sigmas Derby City Football DWI  Week 12 - NFL Week 12 DNAO 5'3' With An Attitude If You Ain't First You're Last! Glazin Sigmas Student Body Left DWI Kenny Rogers Roasters DaCards Dale Hollow Hotel Fund	4.00 4.00 4.00 3.00 3.00 1.00 0.00 0.00 0.00 0.00 4.00 4.00 4	-1.00 -3.00 -4.00 -4.00 -4.00 -4.00 -1.00 -2.00 -3.00 -3.00 -3.00





Week 11 - NFL Week 11		
Kenny Rogers Roasters	4.00	
Dale Hollow Hotel Fund	4.00	
Beer Money	4.00	
DNAO	3.00	-1.00
5'3' With An Attitude	3.00	-1.00
Student Body Left	3.00	-1.00
DaCards	2.00	-2.00
Glazin Sigmas	1.00	-3.00
If You Ain't First You're Last!	0.00	-4.00
DWI	0.00	-4.00
Disney Doesn't Do Dallas	0.00	-4.00
Derby City Football	0.00	-4.00
Week 10 - NFL Week 10		
Dale Hollow Hotel Fund	4.00	
DNAO	4.00	
Student Body Left	4.00	
Kenny Rogers Roasters	3.00	-1.00
Beer Money	3.00	-1.00
DWI	3.00	-1.00
DaCards	2.00	-2.00
Glazin Sigmas	1.00	-3.00
5'3' With An Attitude	0.00	-4.00
If You Ain't First You're Last!	0.00	-4.00
Disney Doesn't Do Dallas	0.00	-4.00
Derby City Football	0.00	-4.00
Week 9 - NFL Week 9		
Week 9 - NFL Week 9 Dale Hollow Hotel Fund	4.00	
Dale Hollow Hotel Fund	4.00 4.00	
Dale Hollow Hotel Fund Kenny Rogers Roasters	4.00	-1.00
Dale Hollow Hotel Fund Kenny Rogers Roasters DWI	4.00 4.00	-1.00 -1.00
Dale Hollow Hotel Fund Kenny Rogers Roasters DWI DNAO	4.00 4.00 3.00	
Dale Hollow Hotel Fund Kenny Rogers Roasters DWI DNAO Student Body Left	4.00 4.00 3.00 3.00 2.00	-1.00
Dale Hollow Hotel Fund Kenny Rogers Roasters DWI DNAO Student Body Left Beer Money	4.00 4.00 3.00 3.00 2.00 2.00 1.00	-1.00 -2.00 -2.00 -3.00
Dale Hollow Hotel Fund Kenny Rogers Roasters DWI DNAO Student Body Left Beer Money Derby City Football DaCards Glazin Sigmas	4.00 4.00 3.00 3.00 2.00 2.00 1.00	-1.00 -2.00 -2.00 -3.00 -3.00
Dale Hollow Hotel Fund Kenny Rogers Roasters DWI DNAO Student Body Left Beer Money Derby City Football DaCards Glazin Sigmas 5'3' With An Attitude	4.00 4.00 3.00 3.00 2.00 2.00 1.00 1.00	-1.00 -2.00 -2.00 -3.00 -3.00 -4.00
Dale Hollow Hotel Fund Kenny Rogers Roasters DWI DNAO Student Body Left Beer Money Derby City Football DaCards Glazin Sigmas	4.00 4.00 3.00 3.00 2.00 2.00 1.00 1.00 0.00	-1.00 -2.00 -2.00 -3.00 -3.00 -4.00
Dale Hollow Hotel Fund Kenny Rogers Roasters DWI DNAO Student Body Left Beer Money Derby City Football DaCards Glazin Sigmas 5'3' With An Attitude	4.00 4.00 3.00 3.00 2.00 2.00 1.00 1.00	-1.00 -2.00 -2.00 -3.00 -3.00 -4.00
Dale Hollow Hotel Fund Kenny Rogers Roasters DWI DNAO Student Body Left Beer Money Derby City Football DaCards Glazin Sigmas 5'3' With An Attitude If You Ain't First You're Last! Disney Doesn't Do Dallas	4.00 4.00 3.00 3.00 2.00 2.00 1.00 1.00 0.00	-1.00 -2.00 -2.00 -3.00 -3.00 -4.00
Dale Hollow Hotel Fund Kenny Rogers Roasters DWI DNAO Student Body Left Beer Money Derby City Football DaCards Glazin Sigmas 5'3' With An Attitude If You Ain't First You're Last! Disney Doesn't Do Dallas  Week 8 - NFL Week 8	4.00 4.00 3.00 3.00 2.00 2.00 1.00 1.00 0.00	-1.00 -2.00 -2.00 -3.00 -3.00 -4.00
Dale Hollow Hotel Fund Kenny Rogers Roasters DWI DNAO Student Body Left Beer Money Derby City Football DaCards Glazin Sigmas 5'3' With An Attitude If You Ain't First You're Last! Disney Doesn't Do Dallas	4.00 4.00 3.00 3.00 2.00 2.00 1.00 1.00 0.00 0.00	-1.00 -2.00 -2.00 -3.00 -3.00 -4.00
Dale Hollow Hotel Fund Kenny Rogers Roasters DWI DNAO Student Body Left Beer Money Derby City Football DaCards Glazin Sigmas 5'3' With An Attitude If You Ain't First You're Last! Disney Doesn't Do Dallas  Week 8 - NFL Week 8 Kenny Rogers Roasters	4.00 4.00 3.00 3.00 2.00 2.00 1.00 1.00 0.00 0.00 0.00	-1.00 -2.00 -2.00 -3.00 -3.00 -4.00
Dale Hollow Hotel Fund Kenny Rogers Roasters DWI DNAO Student Body Left Beer Money Derby City Football DaCards Glazin Sigmas 5'3' With An Attitude If You Ain't First You're Last! Disney Doesn't Do Dallas  Week 8 - NFL Week 8 Kenny Rogers Roasters DNAO	4.00 4.00 3.00 3.00 2.00 2.00 1.00 1.00 0.00 0.00 0.00	-1.00 -2.00 -2.00 -3.00 -3.00 -4.00
Dale Hollow Hotel Fund Kenny Rogers Roasters DWI DNAO Student Body Left Beer Money Derby City Football DaCards Glazin Sigmas 5'3' With An Attitude If You Ain't First You're Last! Disney Doesn't Do Dallas  Week 8 - NFL Week 8 Kenny Rogers Roasters DNAO Student Body Left	4.00 4.00 3.00 3.00 2.00 2.00 1.00 1.00 0.00 0.00 0.00 4.00 4.00	-1.00 -2.00 -2.00 -3.00 -3.00 -4.00
Dale Hollow Hotel Fund Kenny Rogers Roasters DWI DNAO Student Body Left Beer Money Derby City Football DaCards Glazin Sigmas 5'3' With An Attitude If You Ain't First You're Last! Disney Doesn't Do Dallas  Week 8 - NFL Week 8 Kenny Rogers Roasters DNAO Student Body Left DaCards	4.00 4.00 3.00 3.00 2.00 2.00 1.00 1.00 0.00 0.00 0.00 4.00 4.00 4	-1.00 -2.00 -2.00 -3.00 -3.00 -4.00 -4.00
Dale Hollow Hotel Fund Kenny Rogers Roasters DWI DNAO Student Body Left Beer Money Derby City Football DaCards Glazin Sigmas 5'3' With An Attitude If You Ain't First You're Last! Disney Doesn't Do Dallas  Week 8 - NFL Week 8 Kenny Rogers Roasters DNAO Student Body Left DaCards Beer Money	4.00 4.00 3.00 3.00 2.00 2.00 1.00 0.00 0.00 0.00 4.00 4.00 4.00 4	-1.00 -2.00 -2.00 -3.00 -3.00 -4.00 -4.00 -4.00
Dale Hollow Hotel Fund Kenny Rogers Roasters DWI DNAO Student Body Left Beer Money Derby City Football DaCards Glazin Sigmas 5'3' With An Attitude If You Ain't First You're Last! Disney Doesn't Do Dallas  Week 8 - NFL Week 8 Kenny Rogers Roasters DNAO Student Body Left DaCards Beer Money Derby City Football	4.00 4.00 3.00 3.00 2.00 2.00 1.00 1.00 0.00 0.00 0.00 4.00 4.00 4	-1.00 -2.00 -2.00 -3.00 -3.00 -4.00 -4.00 -4.00 -1.00
Dale Hollow Hotel Fund Kenny Rogers Roasters DWI DNAO Student Body Left Beer Money Derby City Football DaCards Glazin Sigmas 5'3' With An Attitude If You Ain't First You're Last! Disney Doesn't Do Dallas  Week 8 - NFL Week 8 Kenny Rogers Roasters DNAO Student Body Left DaCards Beer Money Derby City Football Dale Hollow Hotel Fund DWI Glazin Sigmas	4.00 4.00 3.00 3.00 2.00 2.00 1.00 0.00 0.00 0.00 4.00 4.00 4.00 4	-1.00 -2.00 -2.00 -3.00 -3.00 -4.00 -4.00 -1.00 -3.00 -3.00 -4.00
Dale Hollow Hotel Fund Kenny Rogers Roasters DWI DNAO Student Body Left Beer Money Derby City Football DaCards Glazin Sigmas 5'3' With An Attitude If You Ain't First You're Last! Disney Doesn't Do Dallas  Week 8 - NFL Week 8 Kenny Rogers Roasters DNAO Student Body Left DaCards Beer Money Derby City Football Dale Hollow Hotel Fund DWI Glazin Sigmas 5'3' With An Attitude	4.00 4.00 3.00 3.00 2.00 2.00 1.00 0.00 0.00 0.00 4.00 4.00 4.00 4	-1.00 -2.00 -3.00 -3.00 -4.00 -4.00 -4.00 -1.00 -3.00 -4.00 -4.00
Dale Hollow Hotel Fund Kenny Rogers Roasters DWI DNAO Student Body Left Beer Money Derby City Football DaCards Glazin Sigmas 5'3' With An Attitude If You Ain't First You're Last! Disney Doesn't Do Dallas  Week 8 - NFL Week 8 Kenny Rogers Roasters DNAO Student Body Left DaCards Beer Money Derby City Football Dale Hollow Hotel Fund DWI Glazin Sigmas	4.00 4.00 3.00 3.00 2.00 2.00 1.00 0.00 0.00 0.00 4.00 4.00 4.00 4	-1.00 -2.00 -2.00 -3.00 -3.00 -4.00 -4.00 -1.00 -3.00 -3.00 -4.00





Week 7 - NFL Week 7		
Dale Hollow Hotel Fund	4.00	
Glazin Sigmas	4.00	
If You Ain't First You're Last!	4.00	
DNAO	3.00	-1.00
Beer Money	3.00	-1.00
Derby City Football	3.00	-1.00
Kenny Rogers Roasters	2.00	-2.00
5'3' With An Attitude	1.00	-3.00
Student Body Left	0.00	-4.00
DaCards	0.00	-4.00
DWI	0.00	-4.00
Disney Doesn't Do Dallas	0.00	-4.00
Week 6 - NFL Week 6		
Kenny Rogers Roasters	4.00	
5'3' With An Attitude	4.00	
Disney Doesn't Do Dallas	4.00	
Dale Hollow Hotel Fund	3.00	-1.00
If You Ain't First You're Last!	3.00	-1.00
Beer Money	3.00	-1.00
DWI	2.00	-2.00
Student Body Left	1.00	-3.00
Glazin Sigmas	0.00	-4.00
DNAO	0.00	-4.00
Derby City Football	0.00	-4.00
DaCards	0.00	-4.00
Wools F. NEL Wools F		
Week 5 - NFL Week 5	4.00	
DWI	4.00	
DWI Student Body Left	4.00	
DWI Student Body Left DaCards	4.00 4.00	-1 00
DWI Student Body Left DaCards Kenny Rogers Roasters	4.00 4.00 3.00	-1.00 -1.00
DWI Student Body Left DaCards Kenny Rogers Roasters 5'3' With An Attitude	4.00 4.00 3.00 3.00	-1.00
DWI Student Body Left DaCards Kenny Rogers Roasters 5'3' With An Attitude Beer Money	4.00 4.00 3.00 3.00 3.00	-1.00 -1.00
DWI Student Body Left DaCards Kenny Rogers Roasters 5'3' With An Attitude Beer Money DNAO	4.00 4.00 3.00 3.00 3.00 2.00	-1.00 -1.00 -2.00
DWI Student Body Left DaCards Kenny Rogers Roasters 5'3' With An Attitude Beer Money DNAO Disney Doesn't Do Dallas	4.00 4.00 3.00 3.00 3.00 2.00 1.00	-1.00 -1.00 -2.00 -3.00
DWI Student Body Left DaCards Kenny Rogers Roasters 5'3' With An Attitude Beer Money DNAO Disney Doesn't Do Dallas Dale Hollow Hotel Fund	4.00 4.00 3.00 3.00 3.00 2.00 1.00	-1.00 -1.00 -2.00 -3.00 -4.00
DWI Student Body Left DaCards Kenny Rogers Roasters 5'3' With An Attitude Beer Money DNAO Disney Doesn't Do Dallas Dale Hollow Hotel Fund If You Ain't First You're Last!	4.00 4.00 3.00 3.00 3.00 2.00 1.00 0.00	-1.00 -1.00 -2.00 -3.00 -4.00
DWI Student Body Left DaCards Kenny Rogers Roasters 5'3' With An Attitude Beer Money DNAO Disney Doesn't Do Dallas Dale Hollow Hotel Fund If You Ain't First You're Last! Glazin Sigmas	4.00 4.00 3.00 3.00 3.00 2.00 1.00 0.00 0.00	-1.00 -1.00 -2.00 -3.00 -4.00 -4.00
DWI Student Body Left DaCards Kenny Rogers Roasters 5'3' With An Attitude Beer Money DNAO Disney Doesn't Do Dallas Dale Hollow Hotel Fund If You Ain't First You're Last!	4.00 4.00 3.00 3.00 3.00 2.00 1.00 0.00	-1.00 -1.00 -2.00 -3.00 -4.00
DWI Student Body Left DaCards Kenny Rogers Roasters 5'3' With An Attitude Beer Money DNAO Disney Doesn't Do Dallas Dale Hollow Hotel Fund If You Ain't First You're Last! Glazin Sigmas	4.00 4.00 3.00 3.00 2.00 1.00 0.00 0.00 0.00	-1.00 -1.00 -2.00 -3.00 -4.00 -4.00
DWI Student Body Left DaCards Kenny Rogers Roasters 5'3' With An Attitude Beer Money DNAO Disney Doesn't Do Dallas Dale Hollow Hotel Fund If You Ain't First You're Last! Glazin Sigmas Derby City Football	4.00 4.00 3.00 3.00 2.00 1.00 0.00 0.00 0.00	-1.00 -1.00 -2.00 -3.00 -4.00 -4.00
DWI Student Body Left DaCards Kenny Rogers Roasters 5'3' With An Attitude Beer Money DNAO Disney Doesn't Do Dallas Dale Hollow Hotel Fund If You Ain't First You're Last! Glazin Sigmas Derby City Football  Week 4 - NFL Week 4	4.00 4.00 3.00 3.00 2.00 1.00 0.00 0.00 0.00	-1.00 -1.00 -2.00 -3.00 -4.00 -4.00
DWI Student Body Left DaCards Kenny Rogers Roasters 5'3' With An Attitude Beer Money DNAO Disney Doesn't Do Dallas Dale Hollow Hotel Fund If You Ain't First You're Last! Glazin Sigmas Derby City Football  Week 4 - NFL Week 4 Student Body Left	4.00 4.00 3.00 3.00 3.00 2.00 1.00 0.00 0.00 0.00 0.00 4.00 4.00	-1.00 -1.00 -2.00 -3.00 -4.00 -4.00
DWI Student Body Left DaCards Kenny Rogers Roasters 5'3' With An Attitude Beer Money DNAO Disney Doesn't Do Dallas Dale Hollow Hotel Fund If You Ain't First You're Last! Glazin Sigmas Derby City Football  Week 4 - NFL Week 4 Student Body Left 5'3' With An Attitude	4.00 4.00 3.00 3.00 3.00 2.00 1.00 0.00 0.00 0.00 0.00	-1.00 -1.00 -2.00 -3.00 -4.00 -4.00 -4.00 -4.00
DWI Student Body Left DaCards Kenny Rogers Roasters 5'3' With An Attitude Beer Money DNAO Disney Doesn't Do Dallas Dale Hollow Hotel Fund If You Ain't First You're Last! Glazin Sigmas Derby City Football  Week 4 - NFL Week 4 Student Body Left 5'3' With An Attitude Derby City Football	4.00 4.00 3.00 3.00 3.00 2.00 1.00 0.00 0.00 0.00 4.00 4.00 4.00 3.00 3	-1.00 -1.00 -2.00 -3.00 -4.00 -4.00 -4.00 -1.00
DWI Student Body Left DaCards Kenny Rogers Roasters 5'3' With An Attitude Beer Money DNAO Disney Doesn't Do Dallas Dale Hollow Hotel Fund If You Ain't First You're Last! Glazin Sigmas Derby City Football  Week 4 - NFL Week 4 Student Body Left 5'3' With An Attitude Derby City Football Beer Money	4.00 4.00 3.00 3.00 3.00 2.00 1.00 0.00 0.00 0.00 4.00 4.00 4.00 3.00 3	-1.00 -1.00 -2.00 -3.00 -4.00 -4.00 -4.00 -1.00 -1.00
DWI Student Body Left DaCards Kenny Rogers Roasters 5'3' With An Attitude Beer Money DNAO Disney Doesn't Do Dallas Dale Hollow Hotel Fund If You Ain't First You're Last! Glazin Sigmas Derby City Football  Week 4 - NFL Week 4 Student Body Left 5'3' With An Attitude Derby City Football Beer Money Disney Doesn't Do Dallas	4.00 4.00 3.00 3.00 3.00 2.00 1.00 0.00 0.00 0.00 4.00 4.00 4.00 3.00 3	-1.00 -1.00 -2.00 -3.00 -4.00 -4.00 -4.00 -1.00
DWI Student Body Left DaCards Kenny Rogers Roasters 5'3' With An Attitude Beer Money DNAO Disney Doesn't Do Dallas Dale Hollow Hotel Fund If You Ain't First You're Last! Glazin Sigmas Derby City Football  Week 4 - NFL Week 4 Student Body Left 5'3' With An Attitude Derby City Football Beer Money Disney Doesn't Do Dallas Glazin Sigmas	4.00 4.00 3.00 3.00 3.00 2.00 1.00 0.00 0.00 0.00 4.00 4.00 4.00 3.00 3	-1.00 -1.00 -2.00 -3.00 -4.00 -4.00 -4.00 -1.00 -1.00 -2.00 -3.00
DWI Student Body Left DaCards Kenny Rogers Roasters 5'3' With An Attitude Beer Money DNAO Disney Doesn't Do Dallas Dale Hollow Hotel Fund If You Ain't First You're Last! Glazin Sigmas Derby City Football  Week 4 - NFL Week 4 Student Body Left 5'3' With An Attitude Derby City Football Beer Money Disney Doesn't Do Dallas Glazin Sigmas Kenny Rogers Roasters	4.00 4.00 3.00 3.00 3.00 2.00 1.00 0.00 0.00 0.00 4.00 4.00 4.00 3.00 3	-1.00 -1.00 -2.00 -3.00 -4.00 -4.00 -4.00 -1.00 -1.00 -2.00 -3.00 -4.00
DWI Student Body Left DaCards Kenny Rogers Roasters 5'3' With An Attitude Beer Money DNAO Disney Doesn't Do Dallas Dale Hollow Hotel Fund If You Ain't First You're Last! Glazin Sigmas Derby City Football  Week 4 - NFL Week 4 Student Body Left 5'3' With An Attitude Derby City Football Beer Money Disney Doesn't Do Dallas Glazin Sigmas Kenny Rogers Roasters Dale Hollow Hotel Fund	4.00 4.00 3.00 3.00 3.00 2.00 1.00 0.00 0.00 0.00 4.00 4.00 4.00 3.00 3	-1.00 -1.00 -2.00 -3.00 -4.00 -4.00 -4.00 -1.00 -1.00 -2.00 -3.00 -4.00
DWI Student Body Left DaCards Kenny Rogers Roasters 5'3' With An Attitude Beer Money DNAO Disney Doesn't Do Dallas Dale Hollow Hotel Fund If You Ain't First You're Last! Glazin Sigmas Derby City Football  Week 4 - NFL Week 4 Student Body Left 5'3' With An Attitude Derby City Football Beer Money Disney Doesn't Do Dallas Glazin Sigmas Kenny Rogers Roasters Dale Hollow Hotel Fund DWI	4.00 4.00 3.00 3.00 3.00 2.00 1.00 0.00 0.00 0.00 4.00 4.00 4.00 3.00 3	-1.00 -1.00 -2.00 -3.00 -4.00 -4.00 -4.00 -1.00 -1.00 -2.00 -3.00 -4.00 -4.00
DWI Student Body Left DaCards Kenny Rogers Roasters 5'3' With An Attitude Beer Money DNAO Disney Doesn't Do Dallas Dale Hollow Hotel Fund If You Ain't First You're Last! Glazin Sigmas Derby City Football  Week 4 - NFL Week 4 Student Body Left 5'3' With An Attitude Derby City Football Beer Money Disney Doesn't Do Dallas Glazin Sigmas Kenny Rogers Roasters Dale Hollow Hotel Fund DWI DaCards	4.00 4.00 3.00 3.00 3.00 2.00 1.00 0.00 0.00 0.00 4.00 4.00 4.00 3.00 3	-1.00 -1.00 -2.00 -3.00 -4.00 -4.00 -4.00 -1.00 -1.00 -2.00 -3.00 -4.00

Kenny Rogers Roasters

## DR. HARWOOD INVITATIONAL

www.rtsports.com 2024 Schedule Mon Feb 24 9:31am ET

Week 3 - NFL Week 3		
Glazin Sigmas	4.00	
DaCards	4.00	
Derby City Football	3.00	-1.00
Kenny Rogers Roasters	3.00	-1.00
DWI	3.00	-1.00
Beer Money	2.00	-2.00
Disney Doesn't Do Dallas	2.00	-2.00
If You Ain't First You're Last!	2.00	-2.00
Dale Hollow Hotel Fund	1.00	-3.00
Student Body Left	0.00	-4.00
5'3' With An Attitude	0.00	-4.00
DNAO	0.00	-4.00
Week 2 - NFL Week 2		
DaCards	4.00	
DWI	4.00	
Student Body Left	4.00	
DNAO	4.00	
5'3' With An Attitude	3.00	-1.00
Dale Hollow Hotel Fund	2.00	-2.00
Derby City Football	1.00	-3.00
Beer Money	1.00	-3.00
If You Ain't First You're Last!	1.00	-3.00
Glazin Sigmas	0.00	-4.00
Kenny Rogers Roasters	0.00	-4.00
Disney Doesn't Do Dallas	0.00	-4.00
Week 1 - NFL Week 1		
Student Body Left	4.00	
5'3' With An Attitude	4.00	
Derby City Football	4.00	
Beer Money	4.00	
DNAO	3.00	-1.00
Glazin Sigmas	2.00	-2.00
DWI	1.00	-3.00
If You Ain't First You're Last!	1.00	-3.00
Disney Doesn't Do Dallas	1.00	-3.00
DaCards	0.00	-4.00
Dale Hollow Hotel Fund	0.00	-4.00
2 3.3 1 1011011 1 10101 1 WIIW		4.00

0.00

-4.00